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QUESTION 1

What is a reason for an OSPF router to display a designated router ID of 0.0.0.0? 

A. The MTU is mismatched. 

B. The subnet mask is mismatched. 

C. The interface type is point-to-point. 

D. The interface type is broadcast. 

Correct Answer: C 

 

QUESTION 2

Which three mechanisms are used by switches to build and maintain bridge tables? (Choose three.) 

A. learning 

B. rewriting 

C. flooding 

D. aging 

E. blocking 

Correct Answer: ACD 

 

QUESTION 3

Which BGP state denotes a fully operational session? 

A. Established 

B. Active 

C. Operational 

D. Connect 

Correct Answer: A 

 

QUESTION 4

Which type of router can provide connectivity between areas in an IS-IS domain? 

A. a Level 1 router with adjacencies within a single area 
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B. a Level 2 router with adjacencies in more than one area 

C. an area border router with adjacencies in more than one area 

D. a Level 2 router with adjacencies in a single area 

Correct Answer: B 

 

QUESTION 5

Which two Layer 2 protocols are supported on MX Series devices? (Choose two.) 

A. BGP 

B. RIP 

C. RSTP 

D. MSTP 

Correct Answer: CD 
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